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QUESTION 1

The drivers at C and N Trucking must report the mileage on their trucks each week. The mileage reading of Zachary\\'s
vehicle was 21,907 at the beginning of one week, and 22,053 at the end of the same week. What was the total number
of miles driven by Zachary that week? 

A. 46 miles 

B. 145 miles 

C. 146 miles 

D. 550 miles 

E. 1046 miles 

Correct Answer: C 

 

 

QUESTION 2

A farmer plans to apply preemergent to 360 acres of beans. He needs to use 3 quarts per acre. Calculate the total cost
of the chemical needed if it cost $52.37 per gallon. 

A. $534.92 

B. $2320.65 

C. $8354.34 

D. $14,139.90 

E. $41,293.90 

Correct Answer: D 

 

 

QUESTION 3

In your job as a cashier at Sticky Mart, a customer gives you a $10 bill to pay for candy that costs $5.34. How much
change should you give back? 

A. $3.18 

B. $4.34 

C. $4.66 

D. $5.34 
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E. $5.66 

Correct Answer: C 

 

 

QUESTION 4

Lenz Masonry is installing a brick paver walkway. The area of the walkway is 50 feet by 20 feet. There are 7 pavers to a
square foot. The customer has not decided on a color but knows that mauve pavers cost $0.56 each and mixed shade
pavers cost $0.63 each. How much will the customer save by choosing the mauve pavers? 

A. $245 

B. $490 

C. $980 

D. $3920 

E. $4410 

Correct Answer: B 

 

 

QUESTION 5

An auto technician uses a micrometer to make two measurements. The first measurement is 2.374 units and the second
measurement is 3.005 units. What is the total of the two? 

A. 0.626 

B. 0.631 

C. 4.374 

D. 5.165 

E. 5.379 

Correct Answer: E 
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